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S=FM | 03 |1316.1tE 57.0 (60.0/54.0)

S=EM | 03 |9105.BZ2H 60.0 (50.0/70.0)

S=EM | 07 |0375.4 g2 57.5 (55.0 /60.0 )

S=FEM | 07 |1215.93E 52.0 (50.0 /54.0)

S=EM | 07 |1216.73E 52.0 (50.0 /54.0)




S=FM | 07 |1316.1t2 58.0 (60.0/56.0)
S=FI | 07 |9105.8(2E 57.5 (55.0 /60.0 )
S=FI | 11 [0105.EX 55.0 (53.0/57.0)
S=FI | 11 [0106.EHX 55.0 (53.0/57.0)
S=FEI | 11 [0135.3X1E#M 50.5 (41.0 /60.0)
S=FI | 11 [0205.35C 47.0 (34.0/60.0)
S=FI | 11 |0375.KEHE 31.5(30.0/33.0)
S=FEI | 11 |0376.7XKEHE 31.5(30.0/33.0)
S=FEI | 11 |1215.418 40.5 (41.0/40.0)
S=FI | 11 |1216.418 40.5 (41.0/40.0)
S=FEI | 11 [1415.59 445 (39.0/50.0)
S=FEI | 11 (1416.£9 445 (39.0/50.0)
S=FM | 11 |1465.BFEE 44,5 (139.0/50.0)
S=FM | 11 |1466.BFEZE 44,5 (139.0/50.0)
S=FI | 11 |9105.8(2E 31.5(30.0/33.0)
S=FI | 11 [9106.8(2E 31.5(30.0/33.0)
S=FI | 12 |0376.7 KB 62.5 (70.0/55.0)
S=FI | 12 [9106.8/2E 62.5 (70.0/55.0)
S=FM | 13 |0106.EX 58.5 (61.0/56.0)
S=FI | 13 [0136.51E#M 70.0 (88.0/52.0)
S=FM | 13 |0205.22¢ 45.0 (50.0/40.0)
S=FM | 13 |0206.22¢ 45.0 (50.0/40.0)
S=FIT | 13 |0376.47KEHE 475 (60.0/35.0)
S=FIT | 13 [1316./E2 42.0 (60.0/24.0)
S=EW | 13 |9106.B/2H 475 (60.0/35.0)
S=EM | 16 |0106.EX 58.5 (63.0/54.0)
S=FI | 16 [0136.3X1E#M 64.5 (75.0/54.0)
S=EM | 16 |1215.93E 64.0 (56.0/72.0)
S=FEM | 16 |1315.1t2& 49.0 (51.0/47.0)
S=EM | 16 |1316.1t2 49.0 (51.0/47.0)
S=FEM | 16 |1415.5%) 50.0 (40.0/60.0)
S=EM | 16 |1465.BFEEE 50.0 (40.0/60.0)
S=EM | 20 |0376.# L2 55.0 (60.0 /50.0)
S=EM | 20 |1216.93E 52.5 (60.0/45.0)
S=EM | 20 |2705.588 66.5 (56.0/77.0)
S=EW | 20 |9106.B/2H 55.0 (60.0 /50.0)
S=EM | 21 |0376.4 =2 54.0 (60.0/48.0)
S=FEM | 21 |1215.93E 53.5 (47.0/60.0)
S=FEM | 21 |9106.B/2H 54.0 (60.0/48.0)
S=EM | 22 |1216.93E 64.0 (70.0/58.0)
S=FEM | 22 |1316.1t2 65.0 (72.0/58.0)
S=EM | 24 |1216.93E 56.0 (60.0/52.0)
S=EM | 25 |0106.E¢ 58.5 (60.0/57.0)
S=EM | 25 |0136.321E¥H 59.5 (64.0 /55.0)
S=EM | 26 |0106.E¢ 58.0 (60.0/56.0)
S=EM | 26 |0135.321E#H 52.0 (51.0/53.0)




S=FEI | 26 [0136.3X1E#M 52.0 (51.0/53.0)
S=FI | 26 [0205.35¢ 55.5 (50.0 /61.0)
S=FEI | 26 [1415.59) 65.0 (59.0/71.0)
S=FEI | 26 |[1465.2FEE 65.0 (59.0/71.0)
S=FI | 27 [0206.35C 475 (60.0/35.0)
S=FEI | 27 |0375.7KHE 50.0 ( 40.0 / 60.0)
S=FEI | 27 |1215.418 50.0 ( 40.0 / 60.0)
S=FW | 27 |1315.t2& 475 (35.0/60.0)
S=FEI | 27 (141559 56.0 ( 52.0 /60.0)
S=FEI | 27 [1465.2FEE 56.0 ( 52.0 /60.0)
S=FI | 27 [9106.8/2E 51.5 ( 60.0 /43.0)
S=FI | 29 [0106.EHZ 65.0 (73.0/57.0)
S=FI | 29 |0376.47KEE 60.5 ( 65.0 /56.0 )
S=FI | 29 [1316./E2 59.5 (66.0 /53.0)
S=FI | 29 [9106.8/2E 60.5 ( 65.0 /56.0 )
S=FM | 30 |0205.22¢ 48.0 (56.0/40.0)
S=FM | 30 |0206.22¢ 48.0 (56.0/40.0)
S=FIT | 30 |0375.7 KB 55.0 ( 50.0 / 60.0 )
S=FIT | 30 |9105.8(EE 55.0 ( 50.0 / 60.0)
S=1=31 | 03 [0136.3X1E# M 70.5 (84.0/57.0)
S=1E9 | 03 |0205.22¢ 59.0 (56.0/62.0)
=S=1=31 | 03 |0375.4KEE 52.5 (45.0/60.0)
=S=1531 | 03 [9105.8{2E 54.0 (48.0/60.0)
S=1E3 | 04 |0105.E1 56.5 (58.0 /55.0)
S=1E31 | 04 |0106.E1X 56.5 (58.0 /55.0)
S=1=31 | 04 [0135.31E#M 45.0 (43.0/47.0)
S=1=31 | 04 [0136.31E#M 45.0 (43.0/47.0)
S=1E3 | 04 |0205.22¢ 35.0 (0.0/70.0)
S=1E9 | 04 |0375.45EE2 40.5 (36.0/45.0)
S=1E91 | 04 |0376.452EE2 40.5 (36.0/45.0)
S=1E¥ | 04 |1215.93& 38.0 (47.0/29.0)
S=1E3 | 04 |1216.93E 38.0 (47.0/29.0)
S=1E¥1 | 04 |1315.t2& 17.0 (0.0 /34.0)
S=1E¥1 | 04 |1316.1E2 17.0 (0.0 /34.0)
S=1E¥ | 04 |1415.5£%) 41.5 (43.0/40.0)
S=1E¥ | 04 |1416.5£%) 41.5 (43.0/40.0)
S=1E3 | 04 |1465.BFESE 415 (43.0/40.0)
S=1E3 | 04 |1466.BFESZE 415 (43.0/40.0)
S=1E3 | 04 |2106.5%% 43.0 (86.0/0.0)
S=1E¥ | 04 |4605.22XfEX 54.5 (39.0/70.0)
S=1E | 04 |6215.f2p e ERE 415 (0.0/83.0)
S=1E31 | 04 |9105.8/2H 22.5(0.0/45.0)
S=1E31 | 04 |9106.B/2H 22.5(0.0/45.0)
S=1E¥ | 06 |2106.5%% 44.0 (88.0/0.0)
S=1E¥ | 12 |0136.321E#F 67.5(77.0/58.0)
S=1E¥ | 12 |1316.1t2 53.0 (67.0/39.0)




=2=1531 | 15 [0206.22¢ 54.0 (60.0 /48.0)
S=1531 | 15 |0376.4XKEHE 55.0 ( 60.0 /50.0)
=2=1531 | 15 |1216.418 58.5 (67.0/50.0)
S=1E9 [ 15 |1316.1t2& 52.0 (60.0/44.0)
S=1531 | 15 [9105.8(2E 49.5 (49.0/50.0)
S=1531 | 15 |9106.8(2E 49.5 (49.0/50.0)
=5=1531 | 16 [0105.EH 64.0 (54.0/74.0)
=5=1531 | 16 [0205.2C 53.5 (47.0/60.0)
S=1E91 | 16 |1316.1E2 53.0 (71.0/35.0)
5=1531 | 17 |0106.EHX 59.5 ( 65.0 /54.0)
S=13 | 17 [0136.5X1E#M 58.5 (60.0 /57.0)
S=1531 | 17 |0375.4 &2 56.5 ( 53.0 / 60.0 )
S=1=31 | 17 1215438 59.0 (54.0 /64.0)
S=131 | 17 |9105.8(2E 53.5 (47.0/60.0)
S=1E¥ [ 19 |0205.22¢ 50.5 (41.0/60.0)
S=1=31 | 19 1215438 55.5 (51.0 / 60.0 )
S=1=31 | 19 [1315.1EE£ 53.5 (47.0/60.0)
S=131 | 19 [9106.8(2E 54.5 (63.0/46.0)
2=1=31 | 22 |1216.438 435 (76.0/11.0)
S=1=31 | 25 |0376.4KEE 61.5 (67.0/56.0)
=S—=1=31 | 25 [9106.8(22E 58.0 ( 60.0 /56.0 )
S=1E | 28 |0105.EX 59.0 (58.0/60.0)
S=159 | 28 |0375./ &2 36.0 (40.0/32.0)
S=159 | 28 |0376.# &2 36.0 (40.0/32.0)
S=EJ | 28 [1215.43& 55.0 (50.0 / 60.0)
S=17=31 | 28 [1315.1E2& 49.0 (38.0/60.0)
S=1EM | 28 [1415.4¥ 53.0 (46.0/60.0)
S=1EP | 28 [1465.BFEE 53.0 (46.0/60.0)
S=1591 | 28 |9105.812F 34.5(37.0/32.0)
S=1591 | 28 |9106.812F 34.5(37.0/32.0)
S—=1=1 | 29 [1216.438 43.0 (72.0/14.0)
S=1591 | 31 |1216.43& 43.5(66.0/21.0)
S=1591 | 32 |1216.43& 62.5 (70.0/55.0)
S=%M | 01 [0375.m%E 2 52.0 (43.0/61.0)
S=%M | 02 [9105.8/2 55.5 (50.0 /61.0)
S=%M | 02 |1215.43& 65.0 (58.0/72.0)
2=%I1 | 03 |1216.438 63.0 (74.0/52.0)
S5=%P | 05 |1315.1E& 61.5(57.0/66.0)
S=%P | 09 |9105.8/2FH 61.0 (57.0/65.0)
S=% | 10 [1215.43& 48.5 (53.0/44.0)
S=% | 10 [1216.432 48.5 (53.0/44.0)
5= | 10 [1316./E2 60.0 (64.0 /56.0)
S=%I1 | 10 [2706.52B 70.0 (81.0/59.0)
S—=—%IT | 13 |0376.4x A 58.5 (61.0/56.0)
S=%M | 13 [9106.8/2F 58.0 (60.0 /56.0)
S5=%M | 14 [1216.93E 58.0 ( 60.0 /56.0)




S=%IT | 14 [9105.8(2E 60.5 (50.0/71.0)
S=%31 | 18 [0205.258¢ 57.5 (55.0 /60.0 )
S=%I1 | 18 |0375. K2 34.0 (42.0/26.0)
S=%I1 | 18 |0376. KA 34.0 (42.0/26.0)
S=%I1 | 18 1215418 56.0 ( 56.0 / 56.0 )
S=%I31 | 18 |1216.418 56.0 ( 56.0 / 56.0 )
S=%P [ 18 |1315.t2& 50.0 (40.0/60.0)
S=%I3T | 18 [9105.8(2F 34.0 (42.0/26.0)
S=%31 | 18 [9106.8/2F 34.0 (42.0/26.0)
S=%IT | 19 |0375.7KEHE 58.5 (55.0/62.0)
S=%IT | 21 |0376.7EKEHE 50.0 ( 60.0 / 40.0)
S=%M | 21 |1216.93E 57.0 (63.0/51.0)
S=%M | 21 |9105.82H 48.0 (56.0/40.0)
S=%M | 21 |9106.B/2F 48.0 (56.0/40.0)
S=%M | 24 |1315.t2& 61.5 (58.0/65.0)
S=%M | 24 |9105.82H 59.5 (56.0/63.0)
S=%M | 30 |0376./ &2 60.0 (64.0/56.0)
S=%M | 30 |9106.B/2F 58.5 (61.0/56.0)
S=%M | 31 |1315.t2& 60.0 (55.0/65.0)
S=%M | 31 |2705.588 65.5 (56.0/75.0)
S=%M | 32 |0105.E¢ 20.5 (11.0/30.0)
S=%M | 32 |0106.E¢ 20.5 (11.0/30.0)
S=%IT | 32 [0135.51E#M 20.0 (10.0/30.0)
S=%IT | 32 [0136.51E#M 20.0 (10.0/30.0)
S=%M | 32 |0206.22¢ 30.0 (60.0/0.0)
S=%IT | 32 |0375.7 KB 40(8.0/0.0)
S=%IT | 32 |0376.7KEHE 40(8.0/0.0)
S=%M | 32 |1215.93E 5.0 (10.0/0.0)
S=%M | 32 |1216.93E 5.0 (10.0/0.0)
S=—%IT | 32 [1315.1E& 35(7.0/0.0)
S=%IT | 32 [1316.1t2 35(7.0/0.0)
S=%M | 32 |1415.5%) 13.0 (26.0/0.0)
S=%M | 32 |1416.5£%) 13.0 (26.0/0.0)
S=%M | 32 |1465.BFEEE 13.0 (26.0/0.0)
S=%M | 32 |1466.BFEEE 13.0 (26.0/0.0)
S=%M | 32 |2705.588 16.0 (32.0/0.0)
S=%M | 32 |2706.5858 16.0 (32.0/0.0)
S=%M | 32 |4605.2AfEX 0.0 (0.0/0.0)
S=%M | 32 |4606.2AXfEX 0.0 (0.0/0.0)
S=%M | 32 |9105.82H 25(5.0/0.0)
S=%M | 32 |9106.B/2H 25(5.0/0.0)
S=HM | 07 |1216.93E 63.0 (73.0/53.0)
S=AP | 07 |1316.1E2 56.0 (60.0/52.0)
S=HP [ 09 |0205.223C 32.5(34.0/31.0)
S=HP [ 09 |0206.223Z 32.5(34.0/31.0)
S=HP | 09 |0375.452EE 54.5 (43.0/66.0)




S=A3 | 09 |1215.438 33.5(51.0/16.0)
S=A3 | 09 |1216.438 33.5(51.0/16.0)
=S=A3 | 10 [0205.28¢ 48.5 (50.0 /47.0)
=S=A3 | 10 [0206.25¢ 48.5 (50.0 /47.0)
S=A3 | 10 |0375.4KEE 45.0 (50.0 /40.0)
S=A3 | 10 |0376.4KEE 45.0 (50.0 /40.0)
S=A1P [ 10 |1315.E2& 53.0 (46.0/60.0)
S=A3 | 10 [9105.8(2E 45.0 (50.0 /40.0)
S=A3 | 10 [9106.8(2E 45.0 (50.0 /40.0)
=S=A3 | 11 [0206.25C 53.0 ( 60.0 /46.0)
S=A3 | 11 |0375.4KEE 50.0 ( 40.0 / 60.0)
S=A3 | 11 1215438 51.0 (53.0/49.0)
S=AP [ 11 |1216.493E 51.0 (53.0/49.0)
S=AP | 13 |1216.93E 58.5 (60.0 /57.0)
S=A3 | 14 |0375.4K B 45.0 (45.0/45.0)
S=A3 | 14 |0376.47KEE 45.0 (45.0/45.0)
S=AM | 14 |1215.932 52.0 (44.0/60.0)
S=A3 | 14 [9105.8(2E 45.0 (45.0/45.0)
S=A3 | 14 [9106.8(2E 45.0 (45.0/45.0)
S=A3 | 16 [0136.31E#M 70.5 (87.0/54.0)
S=A3F | 20 [1316.1E2 56.5 ( 60.0 /53.0)
S=FP [ 23 |0205.22¢ 28.5(31.0/26.0)
S=AP [ 23 |0206.22¢ 28.5(31.0/26.0)
S=A3 | 23 |0375.7 KB 37.0 (34.0/40.0)
S=HP | 23 |0376.4 &2 37.0 (34.0/40.0)
S=AP | 23 |1215.93E 55.5 (47.0/64.0)
S=AP | 23 |1315.1E2& 425 (45.0/40.0)
S=AP | 23 |1316.1E2 425 (45.0/40.0)
S=FP | 23 |9105.812H 37.0 (34.0/40.0)
S=FP | 23 |9106.B12H 37.0 (34.0/40.0)
S=HM [ 24 |0205.22¢ 57.0 (54.0/60.0)
S=HP | 25 |1315.E2& 54.5 (49.0 /60.0)
S=FP | 26 |9105.B12H 45.0 (50.0/40.0)
S=FP | 27 |9106.B12H 45.0 (50.0/40.0)
S=FP | 28 |0105.E 29.0 (21.0/37.0)
S=HP [ 28 |0106.E1X 29.0 (21.0/37.0)
S=AM | 28 |0135.321E# 1 50.5 (56.0 /45.0)
S=AP | 28 |0136.321E+F 50.5 (56.0 /45.0)
S=HP [ 28 |0205.22Z 34.0 (34.0/34.0)
S=HP [ 28 |0206.22Z 34.0 (34.0/34.0)
S=HP | 28 |0375.4 g2 355 (31.0/40.0)
S=FP | 28 |0376.# g2 35.5 (31.0/40.0)
S=HP | 28 |1215.43E 48.0 (36.0/60.0)
S=AP | 28 |1315.1t2& 48.0 (48.0/48.0)
S=AP | 28 |1316.1E2 48.0 (48.0/48.0)
S=AM | 28 |1415.5%) 56.0 (50.0/62.0)




S=A13 | 28 [1465.12FEE 56.0 ( 50.0 / 62.0)
S=A3 | 28 [9105.8(EE 35.5(31.0/40.0)
S=A3 | 28 [9106.8/EE 35.5(31.0/40.0)
S=A3 | 29 |0375.4KEE 50.0 ( 40.0 / 60.0)
S=A3 | 29 |1215.438 59.0 ( 55.0/63.0)
S=A3 | 29 [9105.8(2E 50.0 ( 40.0 / 60.0)
=S=A3 | 33 |1216.418 57.5 (60.0 /55.0)
S=F3 | 02 |0376.4KEE 66.5 (77.0/56.0)
S=F3F | 02 [9106.8/2E 58.0 ( 60.0 /56.0 )
S=F31 | 04 |0376.4EE 60.5 (81.0/40.0)
S=F3 | 04 [9106.8/2E 56.5 ( 73.0 /40.0)
S=F31 | 07 |0376.4KEE 60.5 (70.0 /51.0)
S=F3F | 07 [9106.8(22E 57.0 (63.0/51.0)
=S=F3T | 10 [1316.1E2 60.0 ( 64.0 /56.0)
S=FH | 11 |1216.432 65.0 (73.0/57.0)
S=F31 | 16 |0376.4KEE 67.0 (78.0/56.0)
S=FI1 | 16 [9106.8/2E 59.5 (63.0/56.0)
S=F3T | 18 |0376.4KEE 66.5 (86.0/47.0)
S=F¥ | 18 |1216.43E 57.5 (61.0/54.0)
== | 18 [9106.8/2E 61.0 ( 75.0/47.0)
=3 | 19 |0376.4EE 61.0 ( 66.0 /56.0)
S=FIT | 19 [9105.8(28 55.5 ( 55.0 / 56.0 )
S=FIF | 19 [9106.8(22E 55.5 ( 55.0 / 56.0 )
S=F¥ [ 20 |1215.932 57.5 (57.0/58.0)
S=F¥ | 20 |1216.43E 57.5 (57.0/58.0)
S=F¥ | 20 |9105.812H 47.0 (49.0/45.0)
S=F¥ | 20 |9106.B12H 47.0 (49.0/45.0)
S=FM | 24 |0376.4 22 57.0 (61.0/53.0)
S=FH | 24 |1216.4932 58.5 (61.0/56.0)
S=FM | 24 |9106.B12H 57.0 (61.0/53.0)
S=FM | 25 |0205.22¢ 56.5 ( 53.0/60.0 )
S=F¥ | 25 |1315.E2 62.5 (55.0/70.0)
S=F¥ | 25 |9105.B12H 57.0 (53.0/61.0)
S=FI | 28 |0376.4 &2 59.0 ( 78.0/40.0)
S="F¥ | 28 |9106.B12H 53.0 (66.0/40.0)
S=FM [ 29 |0205.22¢ 57.5 (55.0 /60.0 )
S=F¥ | 30 |1216.93E 64.5 (71.0/58.0)
S=&aM | 01 |0136.321E#HF 57.0 (61.0/53.0)
S=&aM | 01 |2706.5858 55.0 (60.0 /50.0 )
S=a¥ | 01 |9206.812 7, 56.5 (61.0/52.0)
S=aMY | 03 [9205.82 7, 455 (43.0/48.0)
S=aM | 03 |9206.812 7, 455 (43.0/48.0)
S=RY | 04 |9205.82 7 67.5(52.0/83.0)
S=&ad | 06 |2706.588 62.5 (70.0/55.0)
S=R¥ | 09 |9205.812 7, 64.0 (51.0/77.0)
S=RM | 12 [9205.82 7 67.0 (56.0/78.0)




S=&¥ [ 13 |0205.22¢ 62.5 (53.0/72.0)
_,mfﬂ 13 [2706.525 58.0 (65.0/51.0)
=R | 14 |0376.47 K2 53.5 (64.0/43.0)
_,mfﬂ 14 |2706.525 56.0 (62.0/50.0)
S=RY | 14 |9205.82 7 37.0 (48.0/26.0)
S=RY | 14 |9206.827 37.0 (48.0/26.0)
S=&d [ 16 |0106.EX 59.0 (60.0/58.0)
S=&¥ [ 16 |0205.22¢ 53.5 (47.0/60.0)
S=RY | 16 |9205.82 7 47.5(39.0/56.0)
S=&Y | 16 |9206.827 47.5(39.0/56.0)
S=&d | 17 |2706.528 63.0 (72.0/54.0)
_,mfﬂ 18 |0126. AC=EE 48.0 (51.0/45.0)
=&Y | 18 |0136.371E# 47.5 (50.0/45.0)
== @RI | 18 |0375.4KEE 245 (42.0/7.0)
== @RIT | 18 |0376.4KEE 245 (42.0/7.0)
S=&ad | 18 |0406.~E 53.5 (60.0/47.0)
== &I | 18 |0506.FH 50.0 ( 56.0 / 44.0)
S=&d | 18 |0606.1HIE 47.0 (50.0/44.0)
S=RY | 18 |9205.82 7 15.0 (22.0/8.0)
S=&Y | 18 |9206.812 7, 15.0 (22.0/8.0)
S=&¥ | 22 |0106.EX 48.0 (60.0/36.0)
SR | 22 |0126. A =E 52.0 (69.0/35.0)
SR | 22 [0136.3X1E#M 55.5(77.0/34.0)
S=&¥ [ 22 |0205.3:¢ 44.0 (48.0/40.0)
S=&aM | 22 |0206.22¢ 44.0 (48.0/40.0)
S=aM | 22 |0376.4 g2 33.5(60.0/7.0)
S=&aM | 22 |0606.iHE 55.5 (60.0 /51.0)
S=ad | 22 |2706.588 66.0 (74.0/58.0)
S=RM | 22 |9205.82 7 25.0 (39.0/11.0)
S=R¥ | 22 |9206.812 7, 25.0 (39.0/11.0)
S=RY | 23 [9205.82 7 62.5 (50.0/75.0)
S=RM | 24 |9205.827 64.5 (55.0/74.0)
S=RM¥ | 26 |9206.812 7 57.5 (60.0/55.0)
S=&aM [ 29 |0106.E 62.0 (68.0/56.0)
S=a¥ | 29 |0376.4 g2 54.5 (68.0/41.0)
S=R¥ | 29 [9205.82 7, 41.0 (48.0/34.0)
S=RY | 29 |9206.812 7, 41.0 (48.0/34.0)
S=&a¥ [ 30 |0106.E¢ 54.0 (60.0/48.0)
S=&aM | 30 |0126. AC =& 51.0 (60.0/42.0)
S=&aM | 30 |0136.321E+HF 49.5 (60.0/39.0)
S=&aM [ 30 |0205.22 52.5 (45.0/60.0)
S=RM¥ | 30 |0375.4 g2 39.5 (51.0/28.0)
S=&M | 30 |0376.#52EE 39.5 (51.0/28.0)
S=RM¥ | 30 [9205.82 7, 26.5(29.0/24.0)
S=&M¥ | 30 [9206.8127, 26.5(29.0/24.0)
S=&aM [ 31 |0106.EX 57.5 (63.0/52.0)




BS=mI | 31 |0126. AX=E 63.5(74.0/53.0)
==& | 31 [0136.3X1E#M 70.0 (86.0/54.0)
S=&¥ [ 31 |0206.22¢ 54.0 (67.0/41.0)
S=mIT | 31 |0376.4KEE 59.5 (64.0 /55.0)
S=&d [ 31 |0506.F 35.5(71.0/0.0)
S=&M [ 31 |0606.iHIE 59.0 (68.0/50.0)
S=&¥ | 31 |2106.5%% 44.0 (88.0/0.0)
S=&d | 31 |2706.588 63.0 (76.0/50.0)
S=BI | 31 |6216.f2FEHEE 43.0 (86.0/0.0)
S=RY | 31 |9205.82 7 445 (48.0/41.0)
S=&Y | 31 |9206.8127 445 (48.0/41.0)
S=mI | 34 |0126. A =B 58.0 ( 60.0 /56.0 )
==& | 34 [0136.31E#HM 55.5 (60.0 /51.0)
S=&¥ | 34 |0205.3:¢ 53.5 (47.0/60.0)
S=RY | 34 |9205.82 7 53.5 (58.0/49.0)
S=RY | 34 |9206.81227 53.5 (58.0/49.0)
S=&d | 36 |0105.E¢ 27.5(55.0/0.0)
S=&M¥ | 36 |0106.EX 27.5(55.0/0.0)
S— &I | 36 |0126. A =E 30.0 (60.0/0.0)
== &I | 36 [0136.31E#M 30.0 (60.0/0.0)
S=&M¥ | 36 |0206.22¢ 30.0 (60.0/0.0)
== @RI | 36 |0375.4 KB 34.0 (44.0/24.0)
== &I | 36 |0376.4KEE 34.0 (44.0/24.0)
S=&ad | 36 |0406.NE 49.0 (65.0/33.0)
S=&adt | 36 |0505.F 18.0 (36.0/0.0)
S=&adt | 36 |0506.F 18.0 (36.0/0.0)
S=&ad | 36 |0605.iHIE 23.0(46.0/0.0)
S=&ad | 36 |0606.1HIE 23.0(46.0/0.0)
S=aM | 36 |2106.5%% 435 (87.0/0.0)
S=&ad | 36 |2706.528 56.5 (63.0/50.0)
S=&aM | 36 |4606.22XfEX 40.0 (80.0/0.0)
S=ad | 36 |6216.fEFEERE 43.0 (86.0/0.0)
S=RMY | 36 [9205.82 7, 11.0 (22.0/0.0)
S=aMY | 36 [9206.812 7, 11.0 (22.0/0.0)
S=RM | 38 [9205.82 7, 57.5 (53.0/62.0)
S=&ad [ 39 |0106.E¢ 39.5 (60.0/19.0)
S=&aM¥ | 39 |0126. AC=E 45.0 (60.0/30.0)
S=&aM | 39 |0135.321E+F 40.5 (40.0/41.0)
S=&aM | 39 |0136.321E+HF 40.5 (40.0/41.0)
S=&aM¥ [ 39 |0205.22 40.0 (40.0/40.0)
S=&aM¥ [ 39 |0206.22¢ 40.0 (40.0/40.0)
S=RM¥ | 39 |0376.4 g2 40.5 (66.0/15.0)
S=&aM [ 39 |0406. 0K 59.5 (77.0/42.0)
S=&aM [ 39 |0505.Fs 445 (51.0/38.0)
S=&aM [ 39 |0506.FE 445 (51.0/38.0)
S=&aM [ 39 |0605.ihIE 38.5(50.0/27.0)




S=&d [ 39 |0606.ihIE 38.5(50.0/27.0)
S=&d | 39 |2705.:E8 45.0 (50.0/40.0)
S=&d | 39 |2706.528 45.0 (50.0/40.0)
S=RY | 39 [9205.82 7 29.5 (44.0/15.0)
S=RY | 39 |9206.82 7 29.5 (44.0/15.0)
S=EI | 02 |0375.4EE2 56.5 (47.0 / 66.0 )
S=BM | 02 |9205.827 36.5 (33.0/40.0)
S=E¥ | 02 |9206.8127, 36.5 (33.0/40.0)
S=E33 | 03 [0136.5X1E#M 75.5 (95.0 /56.0 )
S=E3¥ | 05 |6216.[2FFEIERE 45.0 (90.0/0.0)
S=E3¥t | 07 [0205.25¢ 49.0 (51.0/47.0)
2=E33t | 07 [0206.35¢ 49.0 (51.0/47.0)
S=EIT | 07 |0375.4 &2 63.0 (45.0/81.0)
S=BM | 07 |9205.827 54.0 (37.0/71.0)
S=BM | 12 |9205.827 55.5 (43.0/68.0)
S=BE¥ | 13 |0105.E¢ 25.5(29.0/22.0)
S=BE¥ | 13 |0106.EX 25.5(29.0/22.0)
S=EIT | 13 |0125. A =8 32.5(41.0/24.0)
S=E3T | 13 |0126. AX=E 32.5(41.0/24.0)
S=EI | 13 [0136.5X1E#M 39.5(52.0/27.0)
S=B¥ [ 13 |0205.22¢ 18.0 (18.0/18.0)
S=BM | 13 |0206.22¢ 18.0 (18.0/18.0)
S=EIT | 13 |0375.7 &2 245 (15.0/34.0)
S=EIT | 13 |0376.4XKEE 245 (15.0/34.0)
S=B¥ | 13 |0405.0E 27.0 (36.0/18.0)
S=B¥ | 13 |0406.~E 27.0 (36.0/18.0)
S=BE¥ | 13 |0506.F 34.0 (50.0/18.0)
S=BE¥ | 13 |0605.}HE 35.0 (40.0/30.0)
S=BE¥ | 13 |0606.11E 35.0 (40.0/30.0)
S=BM | 13 |4605.AfEX 34.5 (40.0/29.0)
S=BM | 13 |4606.2AfEX 34.5 (40.0/29.0)
S=BM | 13 [9205.827 13.0 (12.0/14.0)
S=BM | 13 |9206.8127, 13.0 (12.0/14.0)
S=B¥ | 14 |0106.E¢ 55.5 (60.0 /51.0)
S=BEIT | 14 |0126. AXX=E 63.5(71.0/56.0)
S=BM | 14 |0375.48EE2 17.0 (15.0/19.0)
S=BM | 14 |0376.4 g2 17.0 (15.0/19.0)
S=BE¥ | 14 |0606.}1E 55.5 (60.0 /51.0)
S=BM | 14 |9205.827 13.0 (14.0/12.0)
S=BM | 14 |9206.8127 13.0 (14.0/12.0)
S=BM | 15 [9205.827, 445 (29.0/60.0)
S=BM | 16 [9205.827 64.0 (51.0/77.0)
S=BM [ 17 |0205.22¢ 59.5 (57.0/62.0)
S=BM | 19 |0376.4 &2 435 (60.0/27.0)
S=BM | 19 [9205.827 27.0 (31.0/23.0)
S=BM¥ | 19 |9206.8127 27.0 (31.0/23.0)




2=E3¥ | 20 [0106.EHx 62.0 (71.0/53.0)
S=E3 | 20 |0126. A =2 65.5 ( 75.0 /56.0 )
S=E3 | 20 [0136.5X1E#M 69.0 (79.0/59.0)
S=EI | 20 |0375.4 &2 37.0 (44.0/30.0)
S=EI | 20 |0376.4XKEE 37.0 (44.0/30.0)
S=EM [ 20 |0406.~E 70.5 (83.0/58.0)
S=E¥ [ 20 |0606.ihIE 65.5 (82.0/49.0)
S=BEM | 20 |2706.528 55.0 (60.0 /50.0)
S=EIT | 20 |6216.[#FFEIERE 435 (87.0/0.0)
S=EM | 20 |9205.827 40.5 (53.0/28.0)
S=EM | 20 |9206.8127, 40.5 (53.0/28.0)
S=E3 | 22 [0206.22¢ 59.0 ( 60.0 /58.0)
S=BM | 22 |9205.827 52.0 (44.0/60.0)
S=RI | 23 [9205.822 55.5 (48.0/63.0)
S=BE¥ | 26 |0106.EX 62.0 (69.0/55.0)
S=RIT | 26 |6216.f2FEHEE 44.0 (88.0/0.0)
S=BM | 29 |9205.827 57.5 (52.0/63.0)
S=E¥ | 30 |0406.~F 39.0(78.0/0.0)
S=EI | 30 |2106.5% 44.0 (88.0/0.0)
S=RI1 | 30 [2706.52B 34.5(69.0/0.0)
S=RI | 32 [9205.822 58.0 (48.0/68.0)
S=RI1 | 33 [9205.822 59.5 (55.0 /64.0)
S=RIT | 34 |0375. 4 RHEE 46.0 (23.0/69.0)
S=BM | 34 |9205.827 28.0 (19.0/37.0)
S=REI | 34 [9206.822 28.0 (19.0/37.0)
S—=E3¥T | 35 [0136.3X1E#M 68.0 (83.0/53.0)
S=B¥ [ 35 |0205.22¢ 51.0 (54.0/48.0)
S=BE¥ | 35 |0206.22¢ 51.0 (54.0/48.0)
S=BM | 35 |0375.4 =2 145 (23.0/6.0)
S=BEM | 35 |0376.4 =2 145 (23.0/6.0)
S=BM | 35 [9205.827, 16.5(24.0/9.0)
S=BEM | 35 |9206.8127, 16.5(24.0/9.0)
S=BM | 36 |0206.22¢ 56.5 (60.0 /53.0)
S=BM | 36 |4605.22fEX 42.0 (45.0/39.0)
S=BM | 36 |4606.22XfEX 42.0 (45.0/39.0)
S=BM | 36 [9205.827, 62.0 (53.0/71.0)
S=B¥ | 37 |0106.E1¢ 60.5 (74.0/47.0)
S=BM | 37 |0206.22¢ 57.0 (74.0/40.0)
S=BM | 37 |0376.4 g2 50.0 (76.0/24.0)
S=B¥ | 37 |0406.~E 54.0 (70.0/38.0)
S=BE¥ | 37 |0606.}HE 63.0 (75.0/51.0)
S=BM | 37 |9206.8127, 43.0 (67.0/19.0)
S=BEM | 38 |0205.22¢ 56.5 (58.0 /55.0)
S=BEM | 38 |0206.22¢ 56.5 (58.0 /55.0)




S=E31 | 38 |0376.4KEE 52.5 (60.0 /45.0)
==E3T | 38 |0505.F% 55.5 (52.0 /59.0)
==E3¥T | 38 |0506.F$ 55.5 (52.0 /59.0)
S=E¥ | 38 |0606.ihIE 62.5 (68.0/57.0)
S=EM | 38 [9205.827 34.5 (40.0/29.0)
S=EM | 38 |9206.8127, 34.5 (40.0/29.0)
S=E3 | 39 [0106.EHx 56.5 ( 60.0 /53.0)
S=E3 | 39 |0126. AXX=E 57.5(62.0/53.0)
S=E3 | 39 [0136.5X1E#M 66.0 ( 76.0 /56.0 )
2=E3 | 39 [0205.22¢ 52.5 (45.0/60.0)
S=EI | 39 |0375.4KEE 15.0 (14.0/16.0)
S=EIT | 39 |0376.4KEE 15.0 (14.0/16.0)
S=BE¥ [ 39 |0405.0E 52.0 (56.0/48.0)
S=BE¥ | 39 |0406.~E 52.0 (56.0/48.0)
S=BM | 39 [9205.827 20.5(19.0/22.0)
S=BM | 39 |9206.8127, 20.5(19.0/22.0)
S=EIt | 40 |6216./2FFEIEE 48.5(97.0/0.0)
S=# | 02 |0106.EX 64.0 (72.0/56.0)
S=#1 | 02 |0506.Fs 63.5 (69.0/58.0)
S=P [ 06 |9205.812 7 59.0 (58.0/60.0)
S=4 [ 08 |0375.4 &2 53.5(40.0/67.0)
S=491 [ 08 |9205.812 7, 50.0 ( 40.0/60.0)
S=RI | 14 |0376.5 KB 53.0 (62.0/44.0)
S=HM | 14 |9205.82 7 38.0 (40.0/36.0)
S=5M | 14 |9206. 827 38.0 (40.0/36.0)
S=#531 | 15 |0136.3¢{E%H 67.0 (86.0/48.0)
S=#531 | 15 |0375. 4B HEE 55.5 (42.0/69.0)
S=#531 | 15 [9205. 822 61.0 (50.0/72.0)
S=#531 | 16 [9205.822 63.0 (48.0/78.0)
S=#M [ 17 (02052232 61.5 (55.0/68.0)
S=RI | 17 |0375. K2 61.5(52.0/71.0)
S=#51 | 18 |0376. 4 S 29.0 (50.0/8.0)
S=#31 | 18 [0406.AFE 58.5 (69.0 /48.0)
S=#531 | 18 |0606.1n3IE 53.5 (60.0/47.0)
S=#531 | 18 [9205.827 245 (40.0/9.0)
S=#531 | 18 [9206.827 245 (40.0/9.0)
S=RI | 19 |0375.5 2 57.5 (50.0/65.0)
S=&I | 20 [0105.E 50.0 ( 55.0 / 45.0)
S=&I | 20 [0106.E 50.0 ( 55.0 / 45.0)
S=#531 | 20 |0136.3¢1E%4 46.5 (60.0/33.0)
S=RI | 20 |0376.475 2 35.0(62.0/8.0)
S=&I | 20 |0505.FF 59.0 (59.0 /59.0)
S=#51 | 20 |0506.Fs 59.0 (59.0/59.0)
S=I | 20 |0605.1138 64.0 (57.0/71.0)
S=/RI | 20 |9205.8127, 32.5(50.0/15.0)
S=#531 | 20 [9206.827 32.5(50.0/15.0)




S=331 | 22 |0406. 0K 66.5 (76.0 /57.0)
S=331 | 22 |0606.1132 61.5 (69.0/54.0)
S=731 | 25 [0205.28¢ 64.5 (55.0/74.0)
S=4M | 25 [9205.82 7 60.5 (50.0/71.0)
S=#31 | 26 |0375. 4 RHEE 42.0 (51.0/33.0)
S=#31 | 26 |0376. 4 RHEE 42.0 (51.0/33.0)
S=#31 | 26 |0505.Fs 59.5 (56.0 /63.0)
S=#31 | 26 [9205.827 40.5 (51.0/30.0)
S=#31 | 26 [9206.822 40.5 (51.0/30.0)
S=#31 | 28 [0406.AE 64.0 (79.0/49.0)
S=#1 | 28 |0606.1n3E 65.5 (76.0 /55.0)
S=4 [ 30 |0376. 42 &2 44.0 (67.0/21.0)
S=4P [ 30 |0406. A 68.0 (79.0/57.0)
S=#531 | 30 |6216.f2FEHAEE 45.0 (90.0/0.0)
S=#31 | 30 [9205.822 42.5(53.0/32.0)
S=#531 | 30 [9206.822 42.5(53.0/32.0)
S=#8 | 31 |0205.35¢ 59.0 (56.0/62.0)
S=#581 | 37 |0136.3¢{E#H 68.0 (79.0/57.0)
S=#31 | 37 [0406.AE 59.5 (76.0 /43.0)
S=#51 | 38 |0376. 4 RHE 51.5 (60.0 /43.0)
S=491 [ 38 |0406.~FK 64.5 (73.0/56.0)
S=#531 | 38 [9206.822 55.5 (64.0/47.0)
S=# | 40 |0205.35¢ 57.5 (55.0/60.0)
S=#531 | 40 |0375. 4 RS 54.0 (40.0/68.0)
S=M@3I | 02 |0375. 4 S 36.5(41.0/32.0)
S=M@I | 02 |0376. 4 HE 36.5(41.0/32.0)
S=f3 [ 02 |0606.iE 63.0 (69.0/57.0)
S=@I | 02 [9205.827 37.0(36.0/38.0)
S=@I | 02 [9206.822 37.0(36.0/38.0)
S=@I | 04 [9205.827 65.5 (58.0/73.0)
S=@M [ 05 |0206.22Z 57.5 (63.0/52.0)
S=@M | 05 |0375.4 &2 29.5 (30.0/29.0)
S=@M | 05 |0376.# &2 29.5 (30.0/29.0)
S=@M [ 05 |0405.~E 61.0 (56.0/66.0)
S=f¥ [ 05 |0506.F 58.0 (60.0/56.0)
S=@M | 05 |4606.22XfEX 55.5 ( 75.0 / 36.0 )
S=@M | 05 |9205.82 7 25.5(30.0/21.0)
S=@M | 05 |9206.8127, 25.5 (30.0/21.0)
S=@M¥ | 09 |0375.4 g2 21.0 (30.0/12.0)
S=@M¥ | 09 |0376.4 &2 21.0 (30.0/12.0)
S=@M¥ | 09 |9205.82 7, 17.0 (24.0/10.0)
S=@M¥ | 09 |9206.812 7, 17.0 (24.0/10.0)
S=@¥ | 11 |9205.827 70.0 (56.0/84.0)
S=@M¥ [ 12 |0206.22 36.5(73.0/0.0)
S=@¥ | 12 |0375.4 22 16.5(33.0/0.0)
S=@M¥ | 12 |0376.# &2 16.5(33.0/0.0)




==f#3 | 12 |0506.F$ 36.0 (72.0/0.0)
S=f@3 | 12 [2106.5%% 46.0 (92.0/0.0)
S=f3 | 12 [4606.55X1EX 31.0 (62.0/0.0)
S—f@I | 12 |6216.[@FFHEE 415 (83.0/0.0)
S=@M | 12 |9205.827 15.0 (30.0/0.0)
S=@M | 12 |9206.8127 15.0 (30.0/0.0)
S=f#3 | 13 |0376.7 K2 46.5 (67.0/26.0)
S=f#3 | 13 [4606.5X1EX 41.0 (62.0/20.0)
S=@M | 13 |9206.8127 56.0 (74.0/38.0)
S=@M [ 14 |0406.~E 60.5 (66.0/55.0)
S=f3 | 14 [4606.55X1EX 40.0 (60.0/20.0)
S=@M | 14 |9206.8127 57.0 (61.0/53.0)
S=f@M [ 15 |0206.22Z 33.0(66.0/0.0)
S=1®¥ | 15 |0376.4KEE 57.5 (65.0 /50.0)
S=@M [ 15 |0406.~E 40.0 (80.0/0.0)
==f#3¥ | 15 |0506.F$ 33.0(66.0/0.0)
S=@M | 15 |0606.}HIE 60.0 (64.0/56.0)
S=f@3 | 15 [4606.5X1EX 57.0 (77.0/37.0)
S=@M | 16 |0206.22 52.5 (60.0/45.0)
S=1@3 | 16 |0376.47KEE 60.0 (62.0/58.0)
S=@M | 16 |9205.827 53.5 (54.0/53.0)
S=@M | 16 |9206.8127 53.5 (54.0/53.0)
S=@M [ 17 |0206.22¢ 43.0 (86.0/0.0)
S=@3 | 17 |0375.K &2 28.0 (56.0/0.0)
S=@M¥ | 17 |0376.4 =2 28.0 (56.0/0.0)
S=@M¥ | 17 |0406.~E 39.0(78.0/0.0)
S=f@M | 17 |0506.F 32.5(65.0/0.0)
S=@M¥ | 17 |2106.5%% 43.0 (86.0/0.0)
S=@M¥ | 17 |4606.22XfEX 45.0(90.0/0.0)
S=@M¥ | 17 |6216.f2FEERE 43.0 (86.0/0.0)
S=@¥ | 17 |9205.827 255 (51.0/0.0)
S=@M¥ | 17 |9206.8127 255 (51.0/0.0)
S=@¥ | 21 |0375.7KEE 14.5 (20.0/9.0)
S=@M | 21 |0376.4 &2 14.5(20.0/9.0)
S=@M¥ | 21 |4606.2AXfEX 485 (77.0/20.0)
S=@¥ | 21 |9205.827 13.0(18.0/8.0)
S=@M¥ | 21 |9206.8127, 13.0(18.0/8.0)
S=@M¥ | 22 |0375.4 22 16.0 (19.0/13.0)
S=@M¥ | 22 |0376.4 g2 16.0 (19.0/13.0)
S=@M¥ | 22 |4606.22XfEX 49.0 (60.0/38.0)
S=@M¥ | 22 |9205.82 7 15.0 (17.0/13.0)
S=@M¥ | 22 |9206.8127, 15.0 (17.0/13.0)
S=@M¥ | 25 (0375422 13.0 (17.0/9.0)
S=@M | 25 |0376.# &2 13.0 (17.0/9.0)
S=@M¥ | 25 [9205.827, 13.0 (17.0/9.0)
S=@M¥ | 25 |9206.8127, 13.0 (17.0/9.0)




S=@3 | 26 |0375.KEHE 32.0(38.0/26.0)
S=@31 | 26 |0376.4KEE 32.0(38.0/26.0)
S=@M | 26 |9205.827 24.5(30.0/19.0)
S=@M | 26 |9206.812 7 24.5(30.0/19.0)
S=@3 | 29 |0375.4KEE 30.0 (28.0/32.0)
S=@3 | 29 |0376.4KEE 30.0 (28.0/32.0)
S=@M¥ | 29 |9205.82 7 33.5(27.0/40.0)
S=@M | 29 |9206.8127, 33.5(27.0/40.0)
S=f@3 | 32 |0375. K2 26.5(27.0/26.0)
S=@3 | 32 |0376.4KEE 26.5(27.0/26.0)
S=@M [ 32 |0406.~E 60.5 (72.0/49.0)
S=f3 | 32 [4606.3X1EX 43.5(67.0/20.0)
S=@M | 32 |9205.82 7 22.0(23.0/21.0)
S=@M | 32 |9206.8127, 22.0(23.0/21.0)
S=1®3 | 33 |0375.7 K2 56.0 ( 52.0 /60.0 )
S=@M | 33 [9205.827, 52.0 (51.0/53.0)
S=@M | 33 |9206.8127, 52.0 (51.0/53.0)
S=1®3T | 38 |0375.4x K2 27.0 (37.0/17.0)
=S=1®3T | 38 |0376.4KEE 27.0 (37.0/17.0)
S=fM | 38 |0405.~E 58.5 (58.0/59.0)
S=M | 38 |0406.~E 58.5 (58.0/59.0)
=—=1#31 | 38 |0505.F$ 54.0 (54.0 /54.0)
==1%¥1 | 38 |0506.FF 54.0 (54.0 /54.0)
S=fM | 38 |0605.1hIE 57.0 (54.0/60.0)
S=@M | 38 [9205.82 7, 28.5(39.0/18.0)
S=@M | 38 |9206.812 7, 28.5(39.0/18.0)
S=M | 40 |0106.E 30.5(61.0/0.0)
S=1@3 | 40 |0126. A =B 30.5(61.0/0.0)
S=@3T | 40 [0136.5X1E#M 30.0 (60.0/0.0)
S=fM [ 40 |0205.22¢ 28.0 (56.0/0.0)
S=@M | 40 |0206.22¢ 28.0 (56.0/0.0)
S=1@¥ | 40 |0375.7 K2 0(18.0/0.0)
S=1®¥ | 40 |0376.47KEE 0(18.0/0.0)
S=@M | 40 |0406.~E 34.0 (68.0/0.0)
S=fM | 40 |0506.F 33.0(66.0/0.0)
S=M | 40 |0606.1HIE 34.0 (68.0/0.0)
S=@M | 40 |2106.5%% 39.5(79.0/0.0)
S=@M | 40 |2706.588 38.5(77.0/0.0)
S=f@M | 40 |4605.22XfEX 15.0 (30.0/0.0)
S=@M | 40 |4606.22XfEX 15.0 (30.0/0.0)
S=@M | 40 |6216.f2FEERE 42.0(84.0/00)
S=@M¥ | 40 |9205.82 7 5(15.0/0.0)
S=@M | 40 |9206.8127, 75(15.0/0.0)
S=:EM¥ | 01 |0106.E¢ 66.5 (77.0/56.0)
S=:EM | 01 |9206.81227, 60.5 ( 71.0 /50.0)
S=:EM¥ | 02 |0205.22¢ 55.0 ( 50.0 / 60.0 )




S=:EI | 02 |0375.4 2 55.0 ( 50.0 / 60.0 )
S=:EY | 02 |9205.812 7 33.0 (26.0/40.0)
S=:EY | 02 |9206.81227, 33.0 (26.0/40.0)
= =:F¥ | 06 [0106.EHC 56.0 ( 75.0/37.0)
S=:FI | 06 |0126. A =E 55.5 (70.0 /41.0)
S=:FI | 06 [0136.3X1E#M 55.5 ( 66.0 / 45.0)
= =:&¥ | 06 |0506.FF 54.0 ( 68.0 /40.0)
S—:=I | 06 |6216.[2FFEHEE 44.0 (88.0/0.0)
S=:EP | 08 |9205.812 7 71.5 (53.0/90.0)
==:FI | 09 |0506.FF 57.5(61.0/54.0)
= =:FI | 09 |0606.11IE 57.5 (60.0 /55.0)
S=:EY | 09 |9205.812 7 58.5 (51.0/66.0)
S=ZFI | 10 |0376. 4 RS 46.0 (81.0/11.0)
S=&FI | 10 [9206.822 43.0 (65.0/21.0)
S=:&M¥ | 12 |0136.321E%HF 63.5 (69.0/58.0)
S=F | 12 |0375. 4 RS 34.5(40.0/29.0)
S=F | 12 |0376. 4 RHEE 34.5(40.0/29.0)
S=EY | 12 [9205.82 7 29.5(30.0/29.0)
S=:EY | 12 |9206.81227 29.5(30.0/29.0)
S=FI | 14 |9205.8127 61.0 (45.0/77.0)
S=:FI | 15 [0136.31E#M 57.0 (60.0 /54.0)
S =:EIT | 15 |0375. 2 25.0 (50.0/0.0)
S =:EIT | 15 |0376.47 KB 25.0 (50.0/0.0)
= —=:EIT | 15 |9205.8127 16.5(33.0/0.0)
S=:EM | 15 |9206.8127 16.5(33.0/0.0)
S=:EM | 17 |9205.827 49.5 (139.0/60.0)
S —=:EIT | 25 |0375.7 KB 45.0 (46.0/44.0)
S —=:EIT | 25 |0376.7KEE 45.0 (46.0/44.0)
S —:EIT | 25 |6216.[@FFEIETE 425 (85.0/0.0)
S=:EM | 25 |9205.827 26.5(26.0/27.0)
S=:EM | 25 |9206.8127 26.5(26.0/27.0)
S=:EY | 28 |9205.827 56.0 (49.0/63.0)
S=:EM | 31 |9205.8127 455 (43.0/48.0)
S=:EM | 31 |9206.81227 455 (43.0/48.0)
S=:EMY | 32 |0205.22¢ 55.0 ( 50.0 / 60.0 )
S=:EY | 32 |0375.4 g2 37.0 (49.0/25.0)
S=:EMY | 32 |0376.42E &2 37.0 (49.0/25.0)
S=:EM | 32 |6216.fEFEERE 43.0 (86.0/0.0)
S=:EM | 32 [9205.812 7, 29.5 (34.0/25.0)
S=:EM | 32 |9206.81227, 29.5 (34.0/25.0)
S=:EY | 34 |0375.4 g2 23.5(43.0/4.0)
S=:EM | 34 |0376.42EE 23.5(43.0/4.0)
S=:EM¥ | 34 |0506.F 50.5 (60.0/41.0)
S=:EM | 34 [9205.8127, 15.5(26.0/5.0)
S=:EM | 34 |9206.81227 15.5(26.0/5.0)
S=:EM¥ | 36 |0106.E¢ 62.0 (68.0/56.0)




==&} | 36 |0506.FF 60.0 (68.0/52.0)
S=&FI | 36 |6216.f2FEHEE 42.5(85.0/00)
S=:EY | 36 [9205.827 55.5 (51.0/60.0 )
= =:FI | 37 [0106.EHX 61.5 (66.0/57.0)
S =:EI | 37 |0376.4 K2 51.5 ( 60.0 / 43.0)
S=:EY | 37 |0406. 0K 61.0 (66.0/56.0)
S=:EY | 37 |9205.8127 33.0(34.0/32.0)
S=:EY | 37 |9206.812 7 33.0(34.0/320)
==:FI | 39 [0106.EHZ 59.5 (69.0 /50.0 )
S=:FEI | 39 |0126. A =B 60.0 ( 64.0 /56.0)
S=:FI | 39 [0135.1E#M 59.5 (58.0/61.0)
S=:EY | 39 |0406. N 64.5 (79.0/50.0)

= =:EI | 39 |0506.FF 50.5 ( 60.0 /41.0)

==:EIT | 39 |0606.11IE 63.0 (69.0/57.0)

S=:EIT | 40 [0136.31E#M 67.0 (81.0/53.0)
S=f&M | 04 |0376.4 &2 475 (60.0/35.0)
S=f&¥ | 04 |9205.827 39.0 (43.0/35.0)
S=f&M | 04 |9206.81227, 39.0 (43.0/35.0)
S=f&¥ [ 07 |0205.22¢ 475 (45.0/50.0)
S=f&8¥ | 07 |0206.22¢ 475 (45.0/50.0)
S=1831 | 07 |0375.4KEE 21.0 (22.0/20.0)
S=1831 | 07 |0376.47KEE 21.0 (22.0/20.0)
S=f&M | 07 |9205.827 19.0 (18.0 /20.0)
S=f&¥ | 07 |9206.81227, 19.0 (18.0 /20.0)
S=f&¥ [ 09 |0205.22 475 (45.0/50.0)
S=f&¥ [ 09 |0206.22Z 475 (45.0/50.0)
S=f&M | 09 |9205.82 7, 53.0 (42.0/64.0)
S=f&¥ | 10 |0106.E1X 63.5 (80.0/47.0)
S—=1&31 | 10 |0126. A =B 63.5(81.0/46.0)
S=1&31 | 10 [0136.31E#M 63.5(82.0/45.0)
S=f&3 | 10 |0406.~E 70.5 (83.0/58.0)
S=f&H | 11 |0376.4 &2 50.0 (60.0 /40.0)
S=&H | 11 |9205.827 43.0 (46.0/40.0)
S=&M | 11 |9206.8127 43.0 (46.0/40.0)
S=f&M | 12 |0205.22¢ 50.0 ( 50.0 /50.0 )
S=f&M | 12 |0206.22¢ 50.0 ( 50.0 /50.0 )

S=f&M | 12 |0376.4 g2 415 (60.0/23.0)

S=f&M | 12 |0506.F5 55.5 (60.0 /51.0)

S=&M | 12 |9205.82 7 355 (48.0/23.0)

S=&M | 12 |9206.8127 355 (48.0/23.0)

S=f&M | 13 [9205.82 7 32.5(32.0/33.0)

S=f&M | 13 [9206.812 7 32.5(32.0/33.0)

S=f&3 | 20 |0406.~E 56.5 (60.0/53.0)

S=f&¥ | 20 |0506.F5 57.5 (60.0 /55.0)

S=f&M | 20 |9205.82 7, 62.0 (55.0/69.0)

S=f&3 | 22 |0106.E¢ 43.0 (60.0/26.0)




S=183 | 22 |0126. A EE 42,0 (60.0/24.0)
S=12p | 22 [0136.3{EHM 41.0 (60.0/22.0)
S—=1&8h | 22 |0205.%Z 48.0 (56.0/40.0)
S—=18h | 22 |0206.%53 48.0 (56.0/40.0)
S=123 | 22 (037542 21.0 (22.0/20.0)
S—=123 | 22 [0376. 42 21.0 (22.0/20.0)
S=123 | 22 [0405.2E 34.0 (28.0/40.0)
S=123 | 22 [0406.2E 34.0 (28.0/40.0)
S—1&h | 22 |0505.F 17.0 (13.0/21.0)
S—=1&h | 22 |0506.F% 17.0 (13.0/21.0)
S—=1&hf | 22 |0605.3113 25.5(12.0/39.0)
S—=1&h | 22 |0606.3113E 25.5(12.0/39.0)
S=1831 | 22 [2105.54% 30.0 (0.0/60.0)
S=1831 | 22 |2705.258 0.0(0.0/0.0)
S=1831 | 22 |2706.258 0.0(0.0/0.0)
5183 | 22 [4606.FEXIEX 50.0 ( 60.0 / 40.0)
=183 | 22 |6216.[#FFEIERE 50.0 ( 60.0 / 40.0)
S=&M | 22 |9205.82 7 19.0 (18.0/20.0)
S=&M | 22 |9206.812 7, 19.0 (18.0 /20.0)
S=f&3 | 23 |9205.827 59.0 (48.0/70.0)
S=f&M | 29 |9205.827, 68.0 (56.0/80.0)
S=1&31 | 30 [0136.3X1E#M 68.5 (80.0/57.0)
S=f&8¥ | 30 |0406.~E 57.5 (70.0/45.0)
==1&31 | 30 |0506.F$ 60.0 (67.0/53.0)
S=f&M | 31 [9205.827 59.5 (49.0/70.0)
S=f&M | 32 |9205.82 7, 56.0 (45.0/67.0)
S=f8¥ | 38 |0205.22¢ 46.0 (42.0/50.0)
S=f8¥ | 38 |0206.22¢ 46.0 (42.0/50.0)
S=f&3 | 38 [9205.82 7, 425 (49.0/36.0)
S=f&¥ | 38 [9206.81227, 425 (49.0/36.0)
S=f&M | 39 [9205.827, 58.5 (55.0/62.0)
S=%M | 05 |0106.E¢ 56.5 (60.0/53.0)
S=£11 | 05 [0136.3X1E#M 66.0 (82.0/50.0)
S=%M | 05 (037542 36.0 (25.0/47.0)
S=%M | 05 |0376.4 &2 36.0 (25.0/47.0)
S=%M | 05 |0505.F 57.0 (54.0/60.0)
S=EM | 05 |4606.22fEX 40.0 (60.0/20.0)
S=FM | 05 [9205.82 7 38.0 (30.0/46.0)
S=M | 05 |9206.8127, 38.0 (30.0/46.0)
S=%M | 08 |0136.321E 66.0 (76.0/56.0)
S=%M | 08 |0206.22Z 30.0 (60.0/0.0)
S=%M | 08 |0376.4 g2 30.0 (60.0/0.0)
S=%M | 08 |0506.F5 53.5 (60.0/47.0)
S=%M | 08 |4606.22XfEX 30.0 (60.0/0.0)
S=%M | 08 [9205.82 7, 17.5(35.0/0.0)
S=%M | 08 |9206.8127, 17.5(35.0/0.0)




S=FM [ 13 |9205.827 51.0 (42.0/60.0)
=% | 14 [0106.EHX 57.5 (65.0 /50.0)
S=£11 | 14 [0136.3X1E#M 62.0 (80.0/44.0)
S=£11 | 14 [0206.35¢ 54.0 (61.0/47.0)
S=£1 | 14 |0375. K2 10.0 (20.0/0.0)
=811 | 14 |0376.47 K2 10.0 (20.0/0.0)
S=£11 | 14 |0506.F$ 46.0 (60.0/32.0)
S=FM | 14 |2705.58 29.5(59.0/0.0)
S=FM | 14 |2706.528 29.5(59.0/0.0)
S=81 | 14 [4606.EX1EX 49.5(79.0/20.0)
S | 14 |6216.[2FFHEE 42.0(84.0/0.0)
S=FM | 14 |9205.827 10.0 (20.0/0.0)
S=FM | 14 |9206.8127, 10.0 (20.0/0.0)
S=FM | 16 |9205.827 50.0 (40.0/60.0)
S=FM [ 19 [9205.827 63.5 (51.0/76.0)
S=£1 | 20 [0136.5X1E#M 56.0 ( 62.0 /50.0)
S=£11 | 20 |0375. 2 32.0(55.0/9.0)
S=£11 | 20 |0376.4KEE 32.0(55.0/9.0)
S=FM [ 20 |0406.~E 57.5 (64.0/51.0)
=S=£11 | 20 |0506.F$ 50.5 ( 60.0 /41.0)
S=%M [ 20 |0606.1HIE 55.0 (60.0 /50.0)
S=FM | 20 |2706.588 30.5(61.0/0.0)
S=£1 | 20 [4605.EX1EX 25.0 (30.0/20.0)
S=£1 | 20 [4606.FEX1EX 25.0 (30.0/20.0)
S=FM [ 20 |9205.827 16.0 (25.0/7.0)
S=FM [ 20 |9206.8127, 16.0 (25.0/7.0)
S=FM | 24 |0106.EX 31.0(62.0/0.0)
S=£11 | 24 |0125. A= 28.5(57.0/0.0)
S=£11 | 24 |0126. AX=E 28.5(57.0/0.0)
S=£1 | 24 [0135.31E#M 25.5(51.0/0.0)
S=£1 | 24 [0136.3X1E#M 25.5(51.0/0.0)
S=FM | 24 |0205.22¢ 27.0 (54.0/0.0)
S=FM | 24 |0206.22¢ 27.0 (54.0/0.0)
S=FM | 24 |0375.4 22 10.0 (20.0/0.0)
S=FM | 24 |0376.4 22 10.0 (20.0/0.0)
S=FM | 24 |0406.0E 35.0 (70.0/0.0)
S=%M | 24 |0506.F 31.0 (62.0/0.0)
S=%M | 24 |0606.11IE 34.5(69.0/0.0)
S=FM | 24 |2106.5%% 435 (87.0/0.0)
S=EM | 24 |2706.528 31.0 (62.0/0.0)
S=FM | 24 |4606.2AXfEX 30.0 (60.0/0.0)
S=FM | 24 |6216.f2FE0ERE 435 (87.0/0.0)
S=FM | 24 |9205.82 7 12.5(25.0/0.0)
S=FM | 24 |9206.8127 12.5(25.0/0.0)
S=FM | 25 (0375422 36.0 (35.0/37.0)
S=EFM | 25 |0376.4 2 36.0 (35.0/37.0)




=S=%111 | 25 |0505.F$ 53.5 (47.0/60.0)
S=FM | 25 |2705.:88 62.0 (49.0/75.0)
S=£1 | 25 [4605.EIEX 25.0 (30.0/20.0)
S=£1 | 25 [4606.EXIEX 25.0 (30.0/20.0)
S=FM | 25 |9205.827 53.0 (46.0/60.0)
S=£11 | 26 |0375. K2 26.0 (52.0/0.0)
S=£11 | 26 |0376.4KEE 26.0 (52.0/0.0)
=S=%11 | 26 |0506.F$ 61.0 (67.0/55.0)
S=FM | 26 |9205.827 21.0 (42.0/0.0)
S=FM | 26 |9206.812 7 21.0 (42.0/0.0)
S=£111 | 27 [0205.35C 48.5 (47.0/50.0)
S=£11 | 27 |0376.4KEE 26.0 (50.0/2.0)
S=£11 | 27 |0506.F$ 455 (50.0/41.0)
S=£M | 27 [4605.EXIEX 40.0 (30.0/50.0)
S=FM | 27 |9205.827 21.5(40.0/3.0)
S=FM | 27 |9206.8127 21.5(40.0/3.0)
==%11 | 30 |0506.F$ 59.0 (64.0 /54.0)
S=%M | 31 |0105.E¢ 415 (56.0/27.0)
S=£M | 31 |0106.EX 415 (56.0/27.0)
S=£11 | 31 |0125. A= 54.5 (49.0/60.0)
S=£1 | 31 [0135.31E#M 21.5(43.0/0.0)
S=£1 | 31 [0136.5X1E#M 21.5(43.0/0.0)
S=FM | 31 |0206.22¢ 41.0 (61.0/21.0)
S=£11 | 31 |0375. B 0.0(0.0/0.0)
B=5M | 31 [0376.4F2E 2 0.0 (0.0/0.0)
S=%M | 31 |0505.FF 38.5(43.0/34.0)
S=%M | 31 |0506.FF 38.5(43.0/34.0)
S=%M | 31 |0605.1HE 36.0 (50.0/22.0)
S=%M | 31 |0606.iHIE 36.0 (50.0/22.0)
S=FM | 31 |4605.EfEX 15.0 (30.0/0.0)
S=EFM | 31 |4606.2AfEX 15.0 (30.0/0.0)
S=FM | 31 [9205.827 0.0 (0.0/0.0)
S=FM | 31 |9206.827 0.0 (0.0/0.0)
S=%M | 32 |0105.E¢ 59.0 (56.0/62.0)
S=£1 | 32 [0136.3X1E#M 61.5 (69.0/54.0)
S=£M [ 32 |0206.22¢ 60.0 (67.0/53.0)
S=EM | 32 |0376.4 =2 475 (65.0/30.0)
S=%M | 32 |0506.F 46.0 (61.0/31.0)
S=EFM | 32 |4606.2AfEX 42.0 (64.0/20.0)
S=FM | 32 [9205.82 7, 40.5 (53.0/28.0)
S=FM | 32 [9206.812 7, 40.5 (53.0/28.0)
S=%M | 34 |0106.E¢ 32.5(65.0/0.0)
S=FM | 34 |0126. A =2 37.5(75.0/0.0)
S=FM | 34 |0136.321E#H 43.0 (86.0/0.0)
S=%M | 34 |0206.22¢ 34.0 (68.0/0.0)
S=EM | 34 |0376.4 22 35.0 (70.0/0.0)




=S=£11 | 34 |0506.FF 61.0 ( 70.0/52.0)
S=FM | 34 |2705.58 62.5 (57.0/68.0)
S=£1 | 34 [4606.EXIEX 33.0(66.0/0.0)
S=£11 | 34 |6216.[@FFEERE 435 (87.0/0.0)
S=FM | 34 |9206.812 7 31.0 (62.0/0.0)
=S=%11 | 35 [0206.25¢ 57.5 (65.0 /50.0 )
=5=%11 | 35 |0506.FF 51.5 ( 60.0 / 43.0)
S=%M | 35 |0606.}HIE 56.0 (60.0/52.0)
S=£1 | 35 [4606.EXIEX 41.5 (63.0/20.0)
S=FM | 35 |9205.82 7 63.5 (56.0/71.0)
=S=%11 | 36 [0106.EHC 35.5(71.0/0.0)
S=£11 | 36 |0126. AX=E 33.0(66.0/0.0)
S=£1 | 36 [0136.5X1E#M 30.0 (60.0/0.0)
S=£M | 36 |0206.22¢ 38.5(77.0/0.0)
S=£11 | 36 |0375.4 K2 23.5(47.0/0.0)
S=£11 | 36 |0376.4KEE 23.5(47.0/0.0)
==%11 | 36 |0506.F$ 61.5 (68.0/55.0)
S=£1 | 36 [4606.FEXIEX 32.5(65.0/0.0)
S=£11 | 36 |6216.[#FFEERE 435 (87.0/0.0)
S=M | 36 [9205.827 25.0 (50.0/0.0)
S=M | 36 |9206.8127 25.0 (50.0/0.0)
S=£11 | 38 |0375.4 K2 44.0 (35.0/53.0)
S =% | 38 |0376.4 KB 44.0 (35.0/53.0)
S=%M | 38 |0406. A 34.5(69.0/0.0)
S=%M | 38 |0506.F 57.5 (60.0/55.0)
S=%M | 38 |0606.1HIE 60.0 (62.0/58.0)
S=%M | 38 |2706.528 42.0(84.0/00)
S=%M | 38 |4606.2AfEX 40.0 (60.0/20.0)
S=%M | 38 |6216.fEFEERE 41.5(83.0/0.0)
S=%M | 38 [9205.82 7, 425 (35.0/50.0)
S=%M | 38 [9206.8127, 425 (35.0/50.0)
S=EM | 39 (0375422 56.5 (35.0/78.0)
S=%M | 39 |0505.FF 40.0 (40.0/40.0)
S=%M | 39 |0506.FF 40.0 (40.0/40.0)
S=FM [ 39 [9205.82 7 57.5 (35.0/80.0)
S=#IT | 01 |0375.4EE 31.5(37.0/26.0)
S=#P | 01 |0376.452EE 31.5(37.0/26.0)
S=#PE [ 01 |9205.82 7 27.0 (32.0/22.0)
S=#P | 01 |9206.8122 7, 27.0 (32.0/22.0)
S=#P [ 02 |0505.Fs 58.0 (56.0 /60.0 )
S=#P | 02 |9205.82 7, 68.5 (56.0/81.0)
S=#P | 04 |0375.4 g2 63.0 (58.0/68.0)
S=#PE | 04 |9205.82 7 58.5 (53.0/64.0)
S=#P [ 05 |0105.EZ 23.0 (46.0/0.0)
S=#P [ 05 |0106.EZ 23.0 (46.0/0.0)
S=#P [ 05 |0126. AC=E 30.0 (60.0/0.0)




S=#¥ | 05 [0136.51E#M 30.0 (60.0/0.0)
=S=#¥ | 05 [0205.25¢ 27.5(55.0/0.0)
=S=#¥ | 05 [0206.25¢ 27.5(55.0/0.0)
S=#¥ | 05 |0375.4KEE 24.5(49.0/0.0)
S=#¥ | 05 |0376.4KEE 24.5(49.0/0.0)
S=#P [ 05 |0406. N 32.0(64.0/0.0)
=S=#¥ | 05 |0506.FF 33.0(66.0/0.0)
==#¥ | 05 |0606.11IE 35.5(71.0/0.0)
S=#¥ | 05 [2105.5%% 0.0(0.0/0.0)
S=#¥t | 05 [2106. 5% 0.0(0.0/0.0)
S=#P [ 05 |2706.58B8 31.5(63.0/0.0)
S=#¥ | 05 [4606.3EXIEX 415 (83.0/0.0)
S=#¥T | 05 |6215.[@FFEIETE 0.0(0.0/0.0)
S=#¥T | 05 |6216.[#FFEIEE 0.0(0.0/0.0)
S=#P | 05 |9205.82 7, 24.5(49.0/0.0)
S=#P | 05 |9206.81227, 24.5(49.0/0.0)
S=#IT | 06 |0375.4xEEE 25.0 (31.0/19.0)
S=#IT | 06 |0376.47KEE 25.0 (31.0/19.0)
S=#P | 06 |9205.82 7 22.5(27.0/18.0)
S=#P | 06 |9206.8122 7, 22.5(27.0/18.0)
S=#P | 08 |2705.588 67.0 (57.0/77.0)
S=#P [ 11 |0105.E 62.5 (58.0/67.0)
S=#PE [ 11 |9205.82 7 63.5 (54.0/73.0)
ST | 12 |0375.4 2 46.5 (55.0/38.0)
S=I | 12 |0376.47EE 46.5 (55.0/38.0)
S=#PE | 12 |9205.82 7 455 (50.0/41.0)
S=#P | 12 |9206.812 7 455 (50.0/41.0)
S=#P | 14 |9205.827 53.0 (41.0/65.0)
S=#P [ 15 |0205.22¢ 41.5 (40.0/43.0)
S=#P [ 15 |0206.22¢ 41.5 (40.0/43.0)
S=#P [ 15 |9205.82 7 65.5 (56.0/75.0)
S=IT | 17 |0375. 2 425 (45.0/40.0)
S=I | 17 |0376.4EE 425 (45.0/40.0)
S=#PE | 17 |9205.82 7 40.0 (36.0/44.0)
S=#PE | 17 |9206.8122 7 40.0 (36.0/44.0)
S=IT | 18 [0136.31E#M 56.5 ( 65.0 / 48.0)
S=#PE | 18 |0375. 45 EE 45.0 (40.0/50.0)
S=#PE | 18 [9205.82 7 455 (41.0/50.0)
S=#PE | 21 [9205.82 7 66.0 (55.0/77.0)
S=#PE | 23 |0375. 4 EE 70.0 (57.0/83.0)
S=#M | 24 |2706.588 34.0 (68.0/0.0)
S—=IT | 26 [0136.31E#M 58.0 (64.0/52.0)
S=#P [ 26 |0205.223C 51.0 (42.0/60.0)
S=#P | 26 |0375.4EE 125(17.0/8.0)
S=#P | 26 |0376.# g2 125(17.0/8.0)
S=#P | 26 |9205.82 7 12.0 (16.0/8.0)




S=dt

26

9206. 8127,

12.0(16.0/8.0

)
S=PE [ 28 |0105.EZ 56.5 (53.0/60.0)
S=#PE [ 28 |0136.321EH 1 57.0 (64.0/50.0)
S=PE [ 28 10205.23 50.0 (40.0/60.0)
S=PE [ 28 |0375. 42 E 2B 15.0 (20.0 /10.0)
S=PE [ 28 |0376. 4 EE 2B 15.0 (20.0 /10.0)
S=PE [ 28 |0406.AFK 61.0 (67.0/55.0)
S=:#PE [ 28 |0506.FE 57.5 (60.0 /55.0)
S=PE [ 28 |9205.82 145 (18.0/11.0)
S=PE [ 28 |9206.82 7 145 (18.0/11.0)
=S=# | 30 [0206.223 52.0 (60.0/44.0)
=@ | 30 [0375.4F & 38.5(48.0/29.0)
S=#PE [ 30 |0376. 4 EE B 38.5(48.0/29.0)
S=# | 30 |0606.1E 62.0 (70.0/54.0)
2@ [ 30 [9205.827 37.0(47.0/27.0)
S=#PE [ 30 |9206.812 7 37.0(47.0/27.0)
S=PE [ 32 |0375. 4 E B 34.0 (33.0/35.0)
S=#PE [ 32 |0376. 4B 34.0 (33.0/35.0)
S=#PE [ 32 |9205.82 7 26.0 (26.0/26.0)
S=#PE [ 32 |9206.812 7 26.0 (26.0/26.0)
S=#PE [ 36 |9206.812 7 59.5 (67.0/52.0)
S=#PE [ 38 |0136.321EH 1 57.0 (74.0 /40.0)
S=PE [ 38 |0375. 4 EE 74.0 (54.0/94.0)
S=#PE [ 38 |9205.82 7 69.0 (50.0/88.0)
=S=8J | 01 [0206.223¢ 58.0 (63.0/53.0)
S=8M [ 07 |0205.2¢ 38.5(40.0/37.0)
S=8M [ 07 |0206.22¢ 38.5(40.0/37.0)
S=8BM | 07 |0375.: 22 18.0 (27.0/9.0)
S=8M | 07 |0376./ 2 18.0 (27.0/9.0)
S=8BM | 07 |4606.22XfEX 46.5 (60.0/33.0)
S=8BM | 07 |9205.827 15.5 (22.0/9.0)
S=8M | 07 |9206.812 7 155 (22.0/9.0)
S=B¥ | 17 |9205.8/8 7 55.5 (50.0 /61.0)
S=8BM | 22 |0376. /2 44.0 (60.0/28.0)
S=8BM | 22 [9205.8127 37.0 (50.0/24.0)
S=BM | 22 (9206.8127 37.0 (50.0/24.0)
S=5B | 26 [0205.22¢ 27.0(30.0/24.0)
=S=B | 26 [0206.22¢ 27.0(30.0/24.0)
S=5B | 26 [0375.4E 2 12.0 (17.0/7.0)
S=5B | 26 [0376.4E 2 12.0 (17.0/7.0)
S=8BM | 26 [4605.E/EX 10.0 (10.0/10.0)
S=8BM | 26 [4606.22XfEX 10.0 (10.0/10.0)
S=5BM | 26 [9205.8127 12.5 (15.0/10.0)
S=BM | 26 [9206.8127 12.5 (15.0/10.0)
S=B | 27 [0375.H 2 49.0 (48.0/50.0)
S=B | 27 [0376.4EE 49.0 (48.0/50.0)




S=8BM | 27 |9205.827 40.5 (37.0/44.0)
S=8BM | 27 |9206.8127 40.5 (37.0/44.0)
=S=831 | 33 [0206.35¢ 46.0 (50.0/42.0)
S=B831 | 33 |0375. K2 29.5(37.0/22.0)
S=B831 | 33 |0376. KA 29.5(37.0/22.0)
S—8I | 33 [4605. 55 X1EX 15.0 ( 10.0 /20.0)
S—8I | 33 [4606.55X1EX 15.0 ( 10.0 /20.0)
S=8BM | 33 |9206.8127, 38.5 (50.0/27.0)
S=BI1 | 34 |0375. K2 61.0 (36.0/86.0)
S=8BM | 34 |9205.827 58.5 (36.0/81.0)
=S=F3¥T | 03 [0205.25¢ 30.0 (29.0/31.0)
=S=F3¥T | 03 [0206.25¢ 30.0 (29.0/31.0)
=S=F3¥T | 03 |0506.FH 45.0 (50.0 /40.0)
S=FM | 03 |0606.1HIE 46.0 (50.0/42.0)
S=FIT | 03 [4605. 3 X1EX 20.0 (40.0/0.0)
S=FIT | 03 [4606.FEX1EX 20.0 (40.0/0.0)
S=FIT | 04 |0376.4KEE 40.0 ( 60.0/20.0)
S=FMY | 04 |9205.812 7 25.5 (31.0/20.0)
S=FMY | 04 |9206.81227, 25.5 (31.0/20.0)
S=FM | 08 |0205.223¢ 60.0 (58.0/62.0)
S=FM | 08 |9205.82 7, 52.5 (41.0/64.0)
S=FY | 11 |9205.827 54.5 (46.0/63.0)
S=FM | 14 |0205.2:2¢ 46.5 (50.0/43.0)
S=FIT | 14 |0375. 2 27.5(28.0/27.0)
S=FM | 14 |0376.4 252 27.5(28.0/27.0)
S=FM | 14 |9205.827 25.5(24.0/27.0)
S=FM | 14 |9206.8127 255 (24.0/27.0)
S=FM | 19 |9205.82 7 56.0 (50.0/62.0)
S=FM | 22 |0376.4 5252 40.0 (60.0/20.0)
S=FM | 22 |9205.82 7, 24.5(29.0/20.0)
S=FM | 22 |9206.812 7, 24.5(29.0/20.0)
S=FMY | 23 [9205.82 7 65.0 (56.0/74.0)
S=FM | 25 |0206.22¢ 54.5 (62.0/47.0)
S=FM | 25 |9205.82 7 455 (40.0/51.0)
S=FM | 25 |9206.812 7, 455 (40.0/51.0)
S=FM | 26 |0376.4 &2 53.5 (60.0/47.0)
S=FM | 26 |9206.8127 53.5 (60.0/47.0)
S=FMY | 30 |9206.812 7, 59.0 (66.0/52.0)
S=FM | 32 |0205.2:¢ 53.5 (50.0 /57.0)
S=FM | 32 |0206.22¢ 53.5 (50.0 /57.0)
S=FM | 32 [9205.82 7, 62.5 (52.0/73.0)
S=FM | 33 [9205.82 7, 58.0 (50.0/66.0)
S=FM | 34 |0205.22¢ 47.0 (56.0/38.0)
S=FM | 34 |0206.22¢ 47.0 (56.0/38.0)
S—=FM | 34 |0376.4 252 44.0 (60.0/28.0)
S=FM | 34 |4606.22XfEX 45.0 (60.0/30.0)




S=FMY | 34 |9205.812 7 29.5(31.0/28.0)
5] 34 |9206.8/27, 29.5(31.0/28.0)
= 38 [0206.32C 57.5 (60.0 /55.0)
= 38 |0376.475 282 41.0 (60.0/22.0)
5] 38 [9205.8/27, 24.0 (26.0/22.0)
5] 38 [9206.8/27, 24.0 (26.0/22.0)
= 39 [0206.3:C 58.5 (61.0 /56.0 )
5] 39 [9205.8/27, 51.5 (53.0/50.0)
5] 39 [9206.8/27, 51.5 (53.0/50.0)
= 01 [0205.3C 51.5 (43.0/60.0)
= 02 [0206.3:C 59.0 ( 65.0 /53.0)
= 02 |0506.FF 55.0 ( 60.0 /50.0)
= 02 [2106.=%% 44.0 (88.0/0.0)
5] 02 |9205.8/27, 445 (35.0/54.0)
5] 02 [9206.8/27, 445 (35.0/54.0)
5] 03 [9205.8/27, 32.0(33.0/31.0)
5] 03 [9206.8/27, 32.0(33.0/31.0)
5] 08 [9205.8(27, 435 (41.0/46.0)
5] 08 [9206.8/27, 435 (41.0/46.0)
5] 09 [9205.8/27, 56.5 (50.0 / 63.0)
= 10 [0376.4F2 (8 53.5 (62.0/45.0)
= 10 [2106.% 4 435 (87.0/0.0)
5] 10 [9206.8127, 53.5 (62.0/45.0)
= 12 [0376.4F2 8128 44.0 (60.0/28.0)
S 12 |9205.8(27, 31.0 (34.0/28.0)
S 12 [9206.8127, 31.0 (34.0/28.0)
S 13 [0206.2:3C 59.0 (63.0/55.0)
S 13 [9205.8(27 59.5 (54.0 / 65.0)
S 14 [0375.45 %288 49.0 (34.0/64.0)
S 14 [0505.F 31.0(0.0/62.0)
S 14 [2106.5 % 425 (85.0/00)
S 14 [4606.2:1EC 49.5 (60.0/39.0)
S 14 |9205.8(27, 485 (33.0/64.0)
= 17 [0136.3X1E# M 56.5 ( 73.0 / 40.0)
S 17 [0406. 2 64.5 (74.0/55.0)
S 17 [0506.F 55.0 (60.0 /50.0)
S 18 [0205.2:3¢ 445 (43.0/46.0)
S 18 [0206.2:3C 445 (43.0/46.0)
S 18 [0375.4 %282 23.5(24.0/23.0)
S 18 [0376.47 %282 23.5(24.0/23.0)
S 18 [4605.2: X 1EXC 495 (39.0/60.0)
S 18 [9205.8(27, 20.0 (17.0/23.0)
S 18 [9206.8/27, 20.0 (17.0/23.0)
S 23 [0205.253¢ 26.0 (30.0/22.0)
S 23 [0206.3:3¢ 26.0 (30.0/22.0)
S 23 [4605. 52 X1EX 20.0 (30.0/10.0)




S=EIT | 23 [4606.EX1EX 20.0 (30.0/10.0)
S=EM | 23 [9205.827 33.0(34.0/32.0)
S=EM | 23 |9206.8127, 33.0 (34.0/320)
S=HEIT | 26 [0206.22¢ 36.5(73.0/0.0)
S=HEIT | 26 |0376.4KEE 30.0 (60.0/0.0)
=S=HI1T | 26 |0506.F$ 32.5(65.0/0.0)
S=HIT | 26 |2106.5%% 44.0 (88.0/0.0)
S=HEIT | 26 [4606.55X1EX 34.0 (68.0/0.0)
S=EM | 26 |9206.8127 30.0 (60.0/0.0)
=S=HEIT | 28 |0505.F$ 57.5 (55.0 /60.0 )
S=EM | 28 |9205.827 57.5 (55.0/60.0)
S=HEIT | 29 |0506.F$ 55.0 ( 60.0 /50.0)
S=EM | 29 |9205.827 31.0 (31.0/31.0)
S=EM | 29 |9206.8127, 31.0 (31.0/31.0)
=S=HEIT | 30 |0505.F$ 55.0 ( 50.0 / 60.0 )
S=EM | 30 [9205.827 61.0 (53.0/69.0)
S=—HEIT | 32 |0376.4 B 40.5 (60.0/21.0)
=S=—HEIT | 32 |0506.F$ 55.0 ( 60.0 /50.0)
S=EM | 32 [9205.827 25.0 (29.0/21.0)
S=EM | 32 |9206.8127, 25.0 (29.0/21.0)
S=EM | 33 |0205.32¢ 435 (49.0/38.0)
S=EM | 33 |0206.22¢ 435 (49.0/38.0)
S=HEIT | 33 |0375.4 2 27.0 (28.0/26.0)
S=—HEIT | 33 |0376.4 K2 27.0 (28.0/26.0)
S=EM | 33 |0506.FF 55.0 (60.0 /50.0 )
S=EM | 33 |2106.5%% 44.0 (88.0/0.0)
S=EM | 33 |4606.2AfEX 45.0 (60.0/30.0)
S=EM | 33 [9205.827, 25.5 (25.0/26.0)
S=EM | 33 [9206.8127, 25.5 (25.0/26.0)
S=—HEIT | 34 [0136.31E#M 53.5 (62.0/45.0)
S=EM | 34 |0206.22¢ 50.0 ( 70.0 /30.0)
S=EM | 34 |0375.4 2 37.5(35.0/40.0)
S=EM | 34 |0376.4 2 37.5(35.0/40.0)
S=EM | 34 |0406.0E 51.0 (71.0/31.0)
S=EM | 34 |0606.1HIE 40.5 (60.0/21.0)
S=EM | 34 |4606.2AfEX 35.0 (60.0/10.0)
S=EM | 34 [9205.82 7 27.0 (29.0/25.0)
S=EM | 34 |9206.8127, 27.0 (29.0/25.0)
S=EM | 35 [9205.82 7, 52.5 (40.0 /65.0)
S=EM | 37 |0505.FF 52.0 (54.0/50.0)
S=EM | 37 |0506.F 52.0 (54.0 /50.0)
S=EM | 38 |0206.22¢ 53.5 (62.0/45.0)
S=EM | 38 |0406.~E 63.0 (71.0/55.0)
S=EM | 38 |0506.FF 55.0 (60.0 /50.0 )
S==M | 03 [9205.827, 61.5 (55.0/68.0)
S==M | 08 |0375.4 g2 69.0 (51.0/87.0)




S==M | 08 |9205.82 7 54.0 (44.0/64.0)
S==31 | 10 |0375.K &2 34.5(20.0/49.0)
S==31 | 10 |0376.4 K2 34.5(20.0/49.0)
S==M | 10 |9205.827 24.0 (17.0/31.0)
S==M | 10 |9206.8127 24.0 (17.0/31.0)
B==31 | 11 |0375. K2 60.0 (45.0/75.0)
S==M | 11 |9205.827 37.0(32.0/420)
S==M | 11 |9206.8127 37.0(32.0/420)
S==31 | 15 |0375. &2 65.5 (55.0/76.0)
S==M | 15 |9205.827 52.0 (44.0/60.0)
S==M | 16 |9205.827 69.0 (54.0/84.0)
S==31 | 17 [0206.32¢ 58.0 ( 66.0 /50.0)
S==11 | 17 |0375.7 K2 38.5(35.0/42.0)
S==11 | 17 |0376.4KEE 38.5(35.0/42.0)
S==M | 17 |9205.827 42.0 (35.0/49.0)
S==M | 17 |9206.8127 42.0 (35.0/49.0)
S==M | 18 |9205.82 7 62.5 (50.0/75.0)
S==M | 19 [9205.827 58.0 (56.0 /60.0 )
S==M | 20 |9205.8127, 64.0 (56.0/72.0)
S==11 | 21 |0375. K2 66.0 (52.0/80.0)
S==M | 21 |9205.827 47.0 (34.0/60.0)
S==11 | 22 |0375. 2 13.5(11.0/16.0)
S==11 | 22 |0376.4 KB 13.5(11.0/16.0)
S==M | 22 |9205.827 10.5(10.0/11.0)
S==M | 22 |9206.8127 10.5(10.0/11.0)
S==M | 24 |0375.4 82 51.5 (38.0/65.0)
S==M | 24 |9205.827 40.0 (35.0/45.0)
S==M | 24 |9206.8127 40.0 (35.0/45.0)
EfEAR : 360




